x Ewgs.g_j.jﬂ .

Let $Bt20% Le o staudord  Browwiam
Lwohow  amd  demole  B(s+t) - B() = A8y for alls.

&) Nole hak

Blurv) = Bl Blurur) - B = Bu+ ARy,
Blusurw) = Buro)+ brw = Burdadu+ ABwW

MNeunc,
: E L B (W) Blurur) Blurorw) ]
=ELe (Bu+aBy)(But A8y + OB )]
= EL(BS + BubB)(Bu 68y 0Bw)]
FELBE + B (5By + 5Bw)* BUARY + BubBy + BuAByNRu
T\/\L\A wuoke Hae f;a\\b@‘xwai
1) Liveanty of Yue exqpectelon operador
2) Eled]- ELR.]=0 omd Elsevl= ELogwl=0

2) EIBd] = VIB.]=u omd ELABE)=VInBel=t



U Eaecise sau @

.____ ,Elﬂ&)ﬂ;rsrlﬁf_mwwﬂ = Q

: b) _kL:;ay% ¥Msc;u;o._afggmts_qs wa)

i CE LA B(ur D) Blurorw)Blurorw+x) 1

 FEIRN) +3E[elTELe)] » EIRCIELABL)

Yo cademlale TN weole thwat  Bu[dd ~ WN(o0,)\).

 Hemct WCELEGADNT = ELBYT iweplies Mok

Erfedl=uw g =23ut - S

— \\A, conaclusion —
BT Bluwr)R(urorw)Busroswrx )] o
L = -—— o

- 3w rduvtruw. o N
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